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27)9] 47 o= o] Yolg et
(12x5+2)+ (12x9 + 2)
=30 + 54 = 84(cm?)
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=6x5+2=15(cm?)
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ox5 = 30(cm?)
w2t o =30+ 5 = 6(cm) Yt




¥lo] 1 160 cm?

8 x O = 160( cm?),
w2hd o = 160 + 8 = 20(cm) YUt
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18 x 0= 144,0 = 144 + 18 = 8(cm)




16 cm

144 + 9 = 16( cm) YUYt}

= (144 cm?)
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(3°) =(BHAPEB ] Hol)=(3)
=224+ 14 = 16( cm)
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Wy oAe.

(BAAPABE] Hol) = (FA2F 9 o))
wetA (RH)x(%el) = (TH)x(A12) duH.
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24cm 1l4cm
@ 140cm? @ 200cm? ® 280cm?
@34001112 ® 480cm?
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whebA], ALk R0 Yol=

(20 x 24) — (10 x 14) = 480 — 140 = 340( cm?) ¥}
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(FBAER] Hol) = () x (£9])
@ 3x6 =18 (cm?)
@ 36 =18 (cm?)
® 3x6=18(cm?)
@ 3x6=18 (cm?)
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65 x 22 = 1430(cm?)
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(Eo)=(azg 2 Hol)+(LH)
—40x2+10 =80 + 10 = 8( cm)
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(TH9] Zo))=(A4Z3 9] Hol)x2+(¥&°l)
=120x2 +12

=240 +12

= 20(cm)
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A7k -T2 gol)=(d2d 1ol Ho))
—(BPARG LT 2] Hol)+2
=16%x13+2

= 104(cm?)
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25.

9x8+2=236(cm?)




